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Asa 

(A) 	instead of 

(C) 	apart from 

of his hard work, he achieved the target. 

result of 

(D) effect of 

(A) disappeared 

(C) ended 

(B) divided into four 

divided into two 

PART — A 

Find the antonym for the underlined word. 

Seventeen oranges were hidden in the narrator's pockets. 

exposed 	 (B) masked 

(C) concealed 	 (D) buried 

Choose the correct antonym. 

Ajay mastered the techniques of painting. 

(A) skilled 	 (B) proficient 

unskilled 	 (D) experienced 

Choose the plural form of 'loaf' from the following. 

(A) loafs 	 loaves 

(C) bays 	 (D) loafes 

Add a prefix to the word 'obedient'  

(A) non 	 dis 

(C) un 	 (D) im 

Fill in the blanks by choosing the most appropriate prepositional phrase: 

6. 	We had reached a point where the road bifurcated — (Write the synonym) 
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7. 	Choose the right connectors given 

It is raining. Take an umbrella 	 

 

you will get drenched. 

 

or else 

(C) but 

(B) and 

(D)so  

	

. 	Fill in the blanks with appropriate pronoun. 

	 is an excellent opportunity. 

This 
	

(B) That 

(C) These 
	

(D) Some 

	

9. 	Complete the sentence given below choosing the right connectors given. 

Call me 

(A) 	so that 

in case 

you need money. 

(B) in order that 

(D) but 

10. Choose the suitable option to pair it with the word "Man"  to form a 
compound word. 

(A) walk 	 (B) stand 

hole 	 (D) fall 

11. 	What type of Present Tense is the following sentence? 

It is raining now. 

Present Perfect Tense 

Simple Present Tense 

Present Continuous Tense 

(D) 	Present Perfect Continuous Tense 

12. 	Fill in the blank with Gerund. 

	 is a Healthy habit. 

(A) Walk 

(C) Walked 

Walking 

None of the above 
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Which is the correct spelling? 

	

42171.) interpretation 	 (B) intrepretation 

	

(C) intropretation 	 (D) intrapretation 

Sir Issac Newton 

(A)" The Intelligent Scientist 

(C) 	The Intelligent Teacher 

15. 	Fill in the blanks with suitable tags. 

They will wash the car, 

won't they? 

(C) 	will it?  

The Ingenious Scientist• 

The Ingenious Teacher 

(B) wouldn't they? 

(D) would it? 

16. 	Choose the correct meaning for the following Idiom: 

"A piece of cake". 

ro, easy task 

(C) 	completely perfect 

(B) blissfully happy 

(D) moving very slowly 

"A Thing of Beauty" was written by 

(A) 	John Kites 

(C) 	Don Kites 

  

John Keats 

(D) Don Keats 

Fill in the blanks with the meaning for the following idioms. 

"A Couch potato". 

an idle person 	 (B) an idea person 

(C) 	an bad person 	 (D) an buddy person 
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(B) Martial art 

Performing art 

Fill in the sentence with using preposition. 

Is your mother 	 home? 

(A) in 	 at 

(C) on 
	

(D) within 

How many syllables in the word adventure? 

(A) 1 
	

3 

(C) 2 
	

(D) 4 

21. 	Find the group name. 

Kuchupudi, Bangra, Dandia 

(A) 	Literary art 

(C) 	Visual art 

22. 	Fill in the blank with word convey the correct meaning of the sentence. 

Tiny hatchlings fall 

(A) pray 

(C) praey 

	to many predators. 

0 prey 

(D) prei 

23. 	Fill in the blank with correct word to make compound word. 

We use a rain 

(A) shoe 

(C) sail 

 

on a rainy day. 

0 coat 

(D) fire 

 

24. 	Fill in the blanks with suitable linking word. 

Our team played well 	 won the game. 

(A) but 
	

(B) because 

and 
	

(D) so 
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Fill in the blanks with right option. 

a beautiful flower! 

(A) How 
	

(B) Wow 

0 What 
	

(D) Hurrah 

Convert the active sentence into passive sentence by supplying an 

appropriate passive verb form 

She will not recognize us/we 

(A) 	will not recognize 

will not be recognized 

by her. 

(B) will not being recognized 

(D) would not be recognized 

Complete the sentence with correct model verb. 

Students 	 be quiet when they write the examination. 

(A) _ can 	 (B) can't 

0 may 	 (D) could 

Make sentence in the present perfect tense using correct option. 

She 	 to anybody. 

(A) 	never apologized 
	

0 has never apologized 

(C) 	have never apologized 
	

(D) have been never apologized 

Complete the following sentences using appropriate prepositional phrase. 

I would like to order coffee 	 tea. 

instead of 	 (B) instead from 

(C) 	instead to 	 (D) in case 
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32. 	The synonym for the word Indeed is 

infact 

(C) fine 

(B) doubtedly 

(D) need 

Choose the correct Determiner: 

Could you bring me 	  tools I left in the garden. 

(A) this 
	

those 

(C) 	these 
	

(D) none of these 

Choose correct antonyms for the word underlined: 

Verti's wife replied angrily. 

calmly 
	

(B) annoyed 

(C) irritated 	 (D) confused 

Choose correct synonym for the underlined word: 

Writing is a unique hobby. 

(A) common 	 (B) beneficial 

uncommon 	 (D) separate 

Complete these sentences using appropriate modals. 

We 

 

preserve our natural resources. 

(B) used to 

(D) might 

 

 

ought to 

(C) may 
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Fill in the blanks by choosing the most appropriate article from the given 
option. 

	 rice in this super market is good. 

(A) A 	 (B) An 

The 	 (D) None of these 

Read the given sentences carefully and fill in with appropriate phrasal 
verb. 

The mother instructed the maid to 	 the child carefully. 

look after 
	

(B) took after 

(C) 	cook after 
	

(D) soon after 

Fill in the blanks with correct option. 

Do you have 

(A) some 

(C) much 

 

coins with you? I need some. 

0 any 

(D) many 

 

Fill in the blank with right option. 

	 play foot ball? 

(A) You can 
	

0 Can you 

(C) 	Have you 
	

(D) You could 

Choose the correct option: 

We should develop the ability to learn from 

(A) self 
	

(B) others 

(C) 	books 	 all the above 

	 is a word that describes or modifies a noun. 

Adjective 	 (B) Adverb 

(C Verb 	 (D) Noun 

DJRE24 
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Which is the correct spelling? 

(A) pronounciation 
	

(B) prononciation 

pronunciation 
	

(D) pronunciaton 

Make sentence in the present perfect tense using verbs in options: 

My mother 	 to London. 

0 has been 	 (B) being in 

(C) 	have been 	 (D) had been 

Complete the sentence with one of the modal verbs given below: 

You 	 wear a coat, It's quite warm. 

(A) can 	 (B) may 

(C) couldn't 	 shouldn't 

Choose the correct form of the present tense verb from the options given: 

Engineers 

build 

(C) built 

 

bridges. 

 

 

(B) builds 

(D) builts 

Choose the correct option: 

We use 	 when something is the right thing to do. 

(A) should 	 must 

(C) 	ought to 	 (D) would 
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(B) piece 

(D) piese 

peace 

(C) pease 

Choose the most appropriate preposition. 

Vimal generally goes to his work place 	 

by 	 (B) on 

(C) at 	 (D) buy 

Leaders of the world must work towards the 	 of human race. 

bus. 

Form a derivative by adding the right suffix to the word "comfort". 

(A) ise 	 (B) ory 

(C) ation 	 ably 

Choose the correct plural form of lorry from the following 

(A) lorrys 
	

(B) lorry 

(C) Jories lorries 

The common expansion of WHO is 

World Health Organisation 

World Heritage Organisation 

World Hemisphere Organisation 

Western Harmful Organisation 
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PART — B 

Who regulates Monetary Policy? 

RBI 	 (B) SEBI 
(C) HDFC 	 (D) SBI 

u60016)51wGb QTosms619111 9(9rC_IuGlA§.1a1§ rrit ? 

(A) RBI 
	

(B) SEBI 
(C) HDFC 
	

(D) SBI 

The Tamil Nadu Government has announced that the smart class rooms 
would be built in all 23,000 Government 	 in the next four 
years. 

0 Primary Schools 	 (B) Secondary Schools 
(C) 	Higher Secondary Schools 	(D) Colleges 

,z:91@p prrGirr 	,9s6kr9ffiG616) .16-n6b-rgi 23,000 	ry&  	tb 
QprrOlGb 	LL4p11Gb GuRbu Li_ 6111:_i u6-6),066Grur& wrretpli u ® Li) 61661 pu51 Orr® 

IT& 

(A) 	.s1)-Lbu u Gi-rofi 	 (B) Gu3Gb,616zoGuLli ud-r661 

(C) 	ftici u6i-rG61 	 (D) (E66.0gfr61 

The UN climate change conference 2021 was held in 

(A) Paris 	 (B) Moscow 
Glasgow 	 (D) New York 

2021 ,,s0], ,,w,c;01 Lq_6b-r 	g 111 prrOEGIT (541Lu rr GDO 6nG1) Lo1re6,0 Lorrprr® G-rrL 
peoL_Q uamo ? 

(A) 	u rrr9Gfu 	 (B) wrrtorr 

(C) 	gGrrrrGtoG66rr 	 (D) (61g U_J rift& 

Malala won Nobel Peace Prize for her contribution in the field of 

0 Education 	 (B) Women Trafficking 
(C) 	Child labour 	 (D) Environment 

LoGurrGurr cr,tp 	§66),DuSIGI) posr§ u rLffiG61CRS10ffirreib GprruGb 	wü LAI G6)51_11 

Qurrrr? 

(A) a6b61 	 (B) Quooi ü 

(C) 	( gtenp QprrSIGurrerfl 	 (D) 
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National Lokmanya Tilak Award for the year "2024" was awarded. 

	

® 	Sudha Murty 
	

(B) Tessy Thomas 

	

(C) 	Andrew-Pollard 
	

(D) Sunderlal Bahuguna 

2024.,sL'n 	oi rr6oT "GpAui Gemsumr615-riu 
	

610066)66-rC_I" QuaDe_in- 
turrrY? 

	

(A) 	Erprr (y)frO 	 (B) Qn51 prandu 

	

(C) 	.6-b-rLQ5 GurrGixurnt® 	 (D) 65-(6p(rGurrd) ufl7D6-trrrr 

Which is India's first home-built aircraft carrier? 

	

(A) 	INS Godavari 	 INS Vikranth 

	

(C) 	INS Talwar 	 (D) INS Brahmaputra 

@,60turre516irr 	iprriliCGDGui puirrfitEC.JuLi_ GDp6i) GSILDITOTLi) prntAlls &bid) 
6T§J ? 

	

(A) 	INS GEurprre_IM 
	

(B) INS 611517,6 

	

(C) 	INS pd) 61J rnt 
	

(D) INS 61D-Lbupyprr 

Who is the first Indian to hit 500 sixes in T20 cricket? 

	

(A) 	Dhoni 	 Rohit Sharma 

	

(C) 	Virat Kohli 	 (D) Surya Kumar 

4-20 EU&QffiL461) 500 A&GTurraos)Grr ,mic4p 030) g61u_Irr urrft? 

	

(A) 	Gprrthl 
	

(B) Go-rrOl aranrr 

	

(C) 	GaTrrL Gffinz 
	

(D) 	ftu ( Lorrisr 

Who is the new Chief Minister of Telangana? 

	

(A) 	Chandrasekhar Rao 	 (B) Jagan Mohan Reddy 

Revanth Reddy 	 (D) Sachin Pilot 

QpgrLErrarrracid-r ypu GDpbalit u_irrit? 

	

(A) 	,5,011jarfa it rrriJ 	 (B) CIN656irr GLorr66-b-r QLJi 

	

(C) 	GITG11(6 c1Lic 	 (D) a#4161ff oDuGoL 

A 
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The city which is called as the Manchester of South India is 

(A) Chennai 	 (B) Salem 

(C) Madurai 	 Coimbatore 

Gp6israil(tAluirre516irr Lorreo-rQ&Gfui_ft cr6icroi 	 p5u-Lb 

(A) 	Q 6F6bT66) Gig 
	

(B) C6F6oLb 

(C) 	Les§ GO IT 
	

(D) Glum tip t__Igmer 

Who is the new captain of Chennai Super Kings? 

Ruturaj Gaikwad 
	

(B) Deepak Chahar 

(C) 	Jadeja 
	

(D) Kedhar Jadhav 

C1irrepar 	glrLdo 91666fita6isr.  yOtu C&C_H_Gisr turner? 

(A) 	Golirr GeLLWEGI!rn:__ 	 (B) $u/6 &rrwrr 

(C) 	NCL.nrr 
	

(D) Gap nrrpd.J 

Which state has the highest number of Ph.D. holders in India? 

(A) Karnataka 	 0 Tamil Nadu 

(C) Bihar 	 (D) Rajasthan 

@Olui1reS1Gb ,94165 61.G-r1F.L9_ (Ph.D.) uLi_prrM561-r GtFGff LorrOwth G-r&? 

(A) 666-prn_arr 	 (B) puSlprrG1 

(C) Sffirrfr 	 (D) ijrrNduprr6isr 

62. 	Income Tax is a 

0 Direct tax 

(C) 	(A) and (B) 

GJQ5LUf6T ethl cr6trugi 

(A) 	ry 	u rS1 

(C) 	(A) LAtgth (B) 

(B) Indirect tax 

(D) Degressive tax 

(B) ineop&E6 616 

(D) &Mai 	e.n9 
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63. 	Right to freedom of religion is related to 

Judiciary 

Parliament 

Directive principles of State Policy 

Fundamental rights 

EFLD U1 EFrp0 	616tDLD 6rp60_6b-r Qprri_rry66)L_u_Jg 

(60 066),D 
u rrip-rLoGisrfo Lip 

.19-Efr Qp0g6tovou_igAmb CI,Entrom 

Cju 	16owth 

	

64. 	The North-East Monsoon period in Tamil Nadu 

(A) 	August - October 	 (B) September - November 

October - December 	 (D) November - January 

puSIRE40Gb Gut_ glw,C_I uoal tn6-64, QurrOu_ith LDITpithE5GIT. 

(A) 	,w5Gt® - 	rruft 	 (B) Q&L_Lbuter - pGuiburr 

(C) 	 — ispsnburr 
	

(D) panburr — N6o-rG1161 

	

65. 	An Indian citizen has the right to vote at 

(A) 	14 years 
	 18 years 

(C) 	16 years 
	

(D) 21 years 

atO LLA (LcFL.D&ESG-616if1 0.11119 Lmfb& rrar atiug 

(A) 14 

(C) 16 

66. 	A day has 	  

(A) 	1240 minutes 

1440 minutes 

pn- EB( orpoperr OuSli_rtiEGIT? 

(A) 	1240 filoLitEci-r 

(C) 	1440 filiLli_rtiaci-r  

(B) 18 

(D) 21 

(B) 1340 minutes 

(D) 1140 minutes 

(B) 1340 filuSli_itadr 

(D) 1140 

A 	 15 
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67. 	Recognition of a Political Party is accorded by 

0 The Election Commission 	(B) The President 

(C) 	The Supreme Court 	 (D) A Committee 

jbluiGi) EL:AEG-our ,irkkg66611ELb ,916-ninad 

(A) 	GprrpG1) ,Ds6-6)6301 Lb 
	

(B). (,_u_Jr)-6Fr peoGuGurr 

(C) 	Pjf.5 $OLD6ii-coth 
	

(1)) 9(5 (C_Y 

	

68. 	Who is the Finance Minister to present 7 consecutive Union Budgets? 

(A) P. Chidambaram 

Nirmala Sitharaman 

Manmohan Singh 

Moraji Desai 

GprrtAt§ 7 ges),0 L.40ui uLCINL@Eenur prr&E6i) Q,EFu 	oLDr uirnt? 

(A) 	u. Apthurnh 	 (B) OrrinGurr gprrip-anGisr 

(C) 	wecfraorrad-r§ri 	 (D) GLorriTrra Gp&rriLi 

	

69. 	Who uses the Photoshop software more? 

(A) Teacher 	 (B) Doctor 

(C) Painter 	 Photographer 

GurrLGi_rrwrU QupGicrQurroaoGrr ,9.10651b uillGisruGlgivain-aGi-r u_Jrnt? 

(A) 	,w9M U_J (fa GiT 	 (B) Ls) 	G1J 

(C) 	amioreath 	 (D) uesmaliuL_& 666mgfrci-r 

	

70. 	India International Science Festival 2024 was held at 

(A) 	Uttar Pradesh 
	

(B) Madhya Pradesh 

(C) Punjab 	 ,0 Haryana 

@(60uj arraiGpEF .,=91fileSlui61)e.51rr 2024 61J (J 

(A) 	Q4pipli 61u-Gp&th 	 (B) MAO 1111_11 61ITGpEFth 

(C) 	 (D) wr9111rrarrr 
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71. Prime Minister's 'Employment Generation Programme' (PMEGP), 
recently seen in the news, is administered by which Ministry? 

Ministry of Urban Development 
Ministry of Labour and Employment 

Ministry of Agriculture 

Ministry of Micro, Small and Medium Enterprises 

619-pin up,t061616isr `Calemairrullilly pesmcypeDio OLIt_LY PMEGP 
.16-6)Loiliurr61) Orraig11661:JuGA1,0g? 

pEbrra_LD GimburrL® ,161no,'EF,EF6Li) 

Qprr§Gurrunt Loapb Cal6iDwairriLIC_ILA ,z916-6)LM6F66L1) 

eSlakEFrrui .16-6)L13tF6F6BL.D 

(DJ, lj  inebpb p®Apij ap6116-arL656616isr :Dies)LDIF.EFEEL.b 

12. Which State established a special fund to save purple frogs in the 
Western Ghats? 

(A) Odisha 	 (B) Kerala 
-(C) Karnataka 	 Tamil Nadu 

cLDJ Qprn_jrjEFA ineDGD61Gb Lffprr paleDurz66tDar 66rrC_Iurrao b1,01:_ly 	9§Akui 
Lorr GoW 	? 

(A) 94rr 
	

(B) G6iTerriT 

(C) IL(rprn_66rr 
	

(D) Pi-61 ,5rr® 

73. 	What is the major electricity generation power source in India? 

Coal 	 (B) Gas 
(C) Nuclear 	 (D) Hydro 

atAluirrackb L616isr,0-9-CD p_._.(tuA0Q8UJULb 0)16AlLu 	rrLb org? 

(A) fil6u15661 	 (B) or61Gurru_i 

(C) 	.::91.JuS16b-r (Gamut:ID 	 (D) pru516-i1 filmemiLb 

Shikhar Dhawan, who recently announced his retirement, is associated 
with which sports? 

(A) Hockey 

0 Cricket 

EuSuA0G-b par§ 9E16-nal 
Qprn_rryan_wairr? 

(A) wrrtgl 

(C) eilM6Q6L 

.1,616).9Ap 

(B) Football 
(D) Tennis 

G416Err pGurrd-r, G-rbp eSIGnerruirrL@L_Gisr 

(B) 6FG-bucto 

(D) Q1_613-resildo 
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75. Who became the first Indian archer to win gold medal at the 2024 Paris 
Paralympics? 

Harvinder Singh 

Nishad Kumar (C) 

(B) Manish Narwal 

(D) Sumit Antil 

2024 urrifldu urru- rr 9661LbLatAld) 0516) eSlps)p61Gb prthsCi LiplEfEab QGuaLr,D g,p6i) 

(A) 	wrre51,6pri-  AFL 	 (B) wi 	(rairr6b 

(C) 	OGIlirrct ( L.Drrfr 	 (D) Eru51 

Wayanad land slides, recently in news, is located in which State? 

0 Kerala 	 (B) Telangana 

(C) Maharashtra 	 (D) Karnataka 

(EFLEulci) GELLIOEGT961) urr4 JUJEbrrG OGDIF561al G-r(t Lorrfil0A1Gb 
,166)L*,§GirGrr§? 

(A) GffiiTarrr 	 (B) Qpg_irLarr6-o-rrr 

(C) Lo66rriTri-G*9_9- rr 	 (D) 66riprrrr 

Which country got the most Medals in the Olympics in 2024? 

0 U.S.A. 	 (B) China 

(C) Japan 	 (D) Australia 

2024 961W6116 GurrLiii_61Gb ,941E up&ath airrrLglui prr® 

(A) 	,91CILD61:E6Err V6,0 ILI prrO&Gtr 
	

(B) garrr 

(C) 	NC_Iurr6b-r 
	

(D) ,%Giu0G13-6a ll_J rr 

78. 	Which one of the following High Court Building is the second largest 
Judicial complex in the World after London? 

(A) Bombay 	 (B) Calcutta 
0 Madras 	 (D) Delhi 

_G-1)AIGG-DGLu @Guam 	 @u-Gdoit_rrai§ Qurfiiu (gA1 066),0  Guarrrath 
Grgi? 

(A) uLburrtiJ 	 (B) 61),E6prr 

(C) • Clinilijn-Gio 	 (D) QLoG1 
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M. Appavu 

R. Avudaiappan (D 

(B) 	M. 	u rrai 

(D) 	R. 4b61.1 	Ul LI1 11 Gig 

79. 	Who is the present speaker of Tamil Nadu? 

(A) P. Dhanapal 

(C) 	D. Jaya Kumar 

p,bQ_urr6npui pLiSlpffi au1rprriu5rr turnt? 

(A) 	P. paru rr61) 

(C) D. QNu_ilsLorrit 

80. 	Match the following using the codes given below: 

October 2 

September 5 

August 15 

January 26 

(a) 	(b) 	(c) 

4 	3 	2 
3 	4 	1 

1 	2 	3 
4 	3 	1 

Qurrog165 : 

,911BGt_rrurr 2 

Q5C_H_Lburt. 5 

,wbGiuL 15 

N6-erGid 26 

(a) 	(b) 	(c) 
4 	3 	2 
3 	4 	1 

1 	2 	3 
4 	3 	1  

Republic day 

Independence day 

Teacher's day 

Gandhi Birthday 

(d) 

1 
2 

4 

( LEFui9-65- Ales-Rb 

5ip09- 00-1- Lb 

,A6luirr 06-mb 

ErctO QN11-01  

(d) 
1 
2 

4 

2 
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81. D.N.A. finger printing technique is widely used in 	 
investigation. 

0 Crime 	 (B) Agriculture 

(C) School 	 (D) Office 

4.a6isr.g. 0.510) C9-6n,r4 Qp41Gb pLumrresro 11.1051UJ61) utudn-urr@ffierfld.) 
	 .1611)1U_J rrunb ffirruoiCiuu_i6isruGgl,ogi. 

(A) (0,D6-urrG61.ffieDur 
	

(B) eSlai6FrruSlffimur 

(C) ueffieDGrr 
	

(D) ,791&61.161)ffirLffimar 

82. 	Light always travels along the 

(A) 	Smooth surface 

0 Straight line 

9661 orLau rro 	 Q56bgl,00. 

(A) GuwagLiurrar u(0 

(C) Gpit&Garni461) 

(B) G&I-r9-Q5rriTC_Iurrar 

(D) Cu)0661,0tuar G-r§Gii&Gbesx-u 

(B) Rough surface 

(D) None of the above 

Which of the following may be caused due to noise pollution? 

(A) Irritation 
	

(B) Stress 

(C) 	Nervousness 
	

All the above 

@Gory,561)1161) GjOu@alo oro ? 

(A) 	6-r61,'EFEFGb 
	

(B) war c&IG,ApLb 

(C) 	upLb 	 (D) s@epai „%161D6-tfrAoth 

	joints are immovable. 

(A) 	Shoulder and arm 	 (B) Knee and joint 

Upper jaw and skull 	 (D) Lower jaw and upper jaw 

	uL®,E6GiT „9i6-6)5U_JITp61S)61J. 

(A) 	Gprr6truLem_ LoOph oh% 	(B) (pwrLffirr61) LoOgth y3L® 

(C) 	GLDGI) prrea_ u)Oph LD 6601 	601_ 	(D) 	prram_ Lo00.0 GLD61) prr GM_ 
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85. Dr. Mankombu Sambasivan Swaminathan is an Indian Scientist known 
for his leading role in India's 	 Revolution. 

(A) Red 	 (B) White 
Green 	 (D) Black 

@ctO 	 ITLLA ad) 	&area n 	 @,6AILLI 
616rrailiurr6v rrft. Lorr6b1Quaby EITLIDUAG116iff F r airruSlprrpdfr 

(A) ,JÜLI 
(C) uffrmin 

86. 	The organ that is affected by Corona 

(A) Head 
(C) Heart 

Qurip-rarrreS16trrfta) urr luELliuLL 	rjLJLj 

(A) p615)61) 

(C) 	@pill Lb  

(B) Qa1660166An 
(D) ,E5ocly 

Leg 
Lungs 

(B) 	rr61) 

(D) ges)7613-GbEGtr 

The thyroid gland is composed of two distinct lobes lying one on either 
side of the 	 

(A) Brain 	 (B) Heart 
Trachea 	 (D) Abdomen 

613T @(5 1-1P(91  Li`t'EMI 	96b-rP rr&; 
	(J6001 

z6§Liwurn-r& 161D LD,6§ &GTO . 

(A) umaruS16-8-r 
	

(B) s@Pu-'06irr 
(C) 	ulfa-Efi (wG151613-r 

	
(D) 	ugathl& 

Ethanol is manufactured in industries by the 	 of molases, 
which is a by-product obtained during the manufacture of sugar from 
sugarcane. 

0 Fermentation 	 (B) Evaporation 
(C) Condensation 	 (D) Sublimation 

Qp41,tErremtiSIGI) ,E0LbytFEFr006-iirjCj urrk6610,t§ 	 (436npu5161) 
orp6o-rrrGi) pu_irr6IEBE5C_Iu®,Eglpti. 

(A) 	QprrAlpGb 	 (B) .6)51111 Fp 61) 
(C) 	ofirreS10) 	 (D) uprLaLorrpb 

6ovrru:i® ffro-CAuJrrefrg, 	 

A 	 21 
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The pH value of pure water is 	 

(A) 5 	 (B) 6 

7 	 (D) 8 

gfru_J $6161sr pH LDOILILI 	  

(A) 5 
	

(B) 6 

(C) 7 
	

(D) 8 

In 	, we have nuclear power stations, in Kalpakkam and 
Kudankulam. 

(A) 	Andhra Pradesh 	 (B) Uttar Pradesh 

(C) Arunachal Pradesh 	 Tamil Nadu 

	, ffiGburr15&th tAbgib aii_rL66rab 	@u-bdoi@ &_I-LffiGrflGb 
(61 66) 60 

 
UJFJT 	OD LD,6§ Gi-rwar. 

(A) 	1-97Gp.g0Gb 

(C) 	.106(sairrjEF,EFGo 1_517Gp&A1Gb 	(D) p L61 prrilici_Gb 

(B) p4pu-C_I 619-Gpa0Gb 

Spectrum consists of 	colours. 

Seven 	 (B) Eight 

(C) Nine 	 (D) Ten 

(61,TinrreDGD ILI Far§ 	 GuGoolboolrL OD GrrE6 QE n-6601 	@ei-rGrr§. 

(A) GTG 
	

(B) orL® 

(C) 96irrugi 
	

(D) 

The 'Power House' of the cell 	 

(A) Cytoplasm 	 Mitochondria 

(C) 	Cell membrane 	 (D) Chloroplast 

G&GbaS1646-r 	Gni_nuiLb 	 

(A) 	GoaLGI_n-  aGrn-r&W 	 (B) 6-6)LDC_Gi_rr (%rr60011.9_61Lurr 

(C) 	Q&Gb 6FGil 
	

(D) uffatiffiestiflEub 
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93. 	Global warming will cause 	 

(A) 	raise in level of oceans 	(B) melting of glaciers 

(C) 	sinking of islands 	 all of these 

ye_51 @GIJC_IuLo1rp6-616i1 66F9-6001wrra G-Lbut._&664u_i e516-oural 	 

(A) 	65 I_Gb LD 12_ I_ Lb 	11_1 rip 61) 
	

(B) u ü U 1F615),D GIT 0(p 

(C) 	$Q116 651Li_rLffiGtr ukpGi) 	(D) GuDGG-u 	„9.16-6)6-qp.b 

	

94.- 	 plant is used for the treatment of jaundice. 

A Amla 	 (B) Kuppaimeni 

Keezhanelli 	 (D) Aloe Vera 

	 LI),EFGtr ffirriorrm6D 	brr11JJ Looprr.E6C_I uuu@AI,D§. 

(A) Qp61)661 	 (B) (1:_16-tr)uGinesq .  

(C) 	gwrrQpbeS1 	 (D) G6FrOgit 6,0 ITODW 

Skull in human consists of 	 bones. 

22 	 (B) 32 

(C) 42 	 (D) 52 

Lo6-610-6s6616-4 L13600161M_ 9@ 	 orgi Lb Li ffieDerr& G.651Thooi 

(A) 22 
	

(B) 32 

(C) 42 
	

(D) 52 

Acids are 	 in taste. 

sour 	 (B) sweet 

(C) bitter 	 (D) salty 

.1u51G-orLffiGtr 	 (5-615) GU OD ILI P_615) LIU 610 . 

(A) 	LI 6'61 111 	 (B) .661 	. 

(C) 666FC_Iy 	 (D) 

23 
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An 	is the smallest particle of an element. 

0 atom 	 (B) molecule 
(C) mole 	 (D) mass 

90 p 661 u)016isr L.6166# AO ILI L.1 (4 	  =9S( Lb  • 

(A) .,91s1 	 (B) uGulsalg 
(C) 	rrGb 
	

(D) (61 6?Dp 

	is produced when an object is set to vibrate. 

(A) Light 
	

(B) Heat 
0 Sound 
	

(D) Measurement 

G u rrodr .,910rrai 	P_Lu ®A§LIDGurr,§i 	 — LD J.  

(A) 	Q Gif4.5 Lip 
	

(B) QJ JULb 

(c) 9619 
	

(D) GrrOLL9Au 

is a process of removing impurities from water to make it 
potable. 

Reverse Osmosis (RO) 	(B) Sieving 
(C) Filtration 	 (D) Winnowing 

 	or6ifrx 	cy)Giox 61 GI) , 	61 GI) 	P_Gi-re-r 	rrzfrisa dr 	P66 C_1 u L@, 
6fi$06561&,E6C_Iu@glx. 

(A) 	G-rpr EFdi 	urjaid) (RO) 	(B) 	p‘i) 
(C) 	isi_66 L@p 	 (D) OTOPP6b 

$rr 

In India, 	circuits of potential 220/230 V is supplied. 

Domestic 	 (B) Offices 
(C) 	Department of Education 	(D) Streets 

atO rreS1Gb 	 

(A) OL®ctrflui 

(C) 	UG1TGr115 4E661)6M] 60,0 61) 	TF 

(B) .igjaiGo66rt.iffiGif1Gb thrr 

(D) Clpo&ffielf1Gb G.tro-r 

u516-isr OpE6G6161) 220/230 GairrGbiL L616-isTargpth 
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QGIJO prrtLises664 @,01_1160LJ 
(y)Goumr& ulTaig1,0§. 

(A) 	prr ILI 	 (B) L1,0610611 

(C) wefilpeo-r 	 (D) uS6b-r 

(C) Man 

Dog 

GT:TLi@p15 

(B) Bird 

(D) Fish 

alLEF tu GprrtLi. @gi 

101. Rabies is a fatal disease which is transmitted by the bite of the infected 

Eisl_nupe6r 

102. 	is essential to perform winnowing activity. 

(A) Rain 	 (B) Soil 

(C) Water 	 'Air 

grOgpb G-rGirr,D GalL161060 (6164p 616igaloal6waigtgar 
Gpmal CJ 	effl§.1 

(A) 	LD611) 
	

(B) LD 6001 

(C) $it 
	

(D) ,E5*01 

QJUJLb 

103. 	 involves the artificial rearing or cultivation of earthworms 

and using them for the production of compound from natural organic 

wastes. 

Vermi compost 	 (B) Artificial 

(C) 	Grains 	 (D) All the above 

65M up 	u rrod-rffimerr LD6001 	1_1(V1666iT 416npal 6101_11_4 OEFLLialp1rG1) 
LD &QS)wujrri, 	GiT Gurrdsco E§ap Qurr6G1T6Ger 	 1)-CD orarLiu@Lb. 

(A) 	LD 600 	1 LI (g) 
	

(B) Qau_466)6s 

(C)uu)ft 
	

(D) Gmetail 	oposroLb 

A 	 25 	 DJRE24 
[Turn over 



(C) 

104. Chloroplasts are 	 plastids. 

	

green 	 (B) blue 

	

(C) white 	 (D) red 

	fil,Du61&mar Cl&rreitff@Gi-rar 666-661&th uErrLEatiflEW. 

(A) 	uiF66)EF 

(C) Qaid-repar 

105. The deficiency of insulin causes 

(A) Cancer 

0 Diabetes mellitus  

(B) (660 

(D) 

(B) Tetanus 

(D) TB 

@o-rErGiskirr 6Fro-uad) (66),Tu1r® 6Ltu@alp. rr6b (:)(ii) rr § 

(A) LOPGPFLI-1 	 (B) 

(C) 	1_111 rruiEdu QwLko 	 (D) ,ffirr& GprrtLi 

An Amalgam is an alloy of 	 with another metal. 

Mercury 	 (B) Tree 

(C) Soil 	 (D) Stone 

@D-6F,r."666o6-nei G-rd-ru§ 	, _GG-orraLip G6Frrbp 666oGnatuirrib. 

(A) urrv&th 	 (B) Lou-Co 

(C) 	LO 600 	I 	 (D) ffid) 

	 gas in the air that we breathe is made up of two oxygen atoms 
chemically. 

Oxygen 	 (B) Nitrogen 

Helium 	 (D) Sodium 

prnb ErGurth1621 ErrOOGi) 	irr  	u_lairrargi, 	GU I:J 6Z0 66b 	CAgesurGb 
@6-tDestrrp @9-6-601@ ,9s&AN6-isr ,91wfuEGrrrr61) 	(5e..irrsEg1,001. 

(A) ,silt4IN6i51 
	

(B) 6-npLITNG-isr 

(C) 	06a ILI th 
	

(D) GiEcrrifFuJib 
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108. Sound waves produced by 

 

	are examples for ultrasonic waves. 

 

(A) Man 	 (B) Lion 

Bat 	 (D) Deer 

	crflu®Lb 01.  61D 615T 149 ly [Id& 	 asieTemb. 

(A) u)661p6irr 	 (B) 

(C) @ rrurrb 	 (D) r-rdsr 

The total 	 of a path taken by an object to reach one place from 
another place is called distance. 

(A) Pressure 	 (B) Mass 

Length 	 (D) Force 

9ft Ni--061510,t0 witGroftft &466)P . 166) '±G)-1 P 	90 Q rrOdr &1—(60 64P 
u1rGb)u16bT Qwrr 	, Op rros)e) 	GT arC_I 

(A) 
	

(B) (6166),T 

(C) 	Gmb 
	

(D) 616na 

Food should not be purchased beyond the date of 

(A) 	Selling price 

0 Date of Expiry 

Q_G-istrrap Qu rrodr 61D 6IT ,DI ufl 
Fin_ I_ FT§ . 

(B) Marketing 

(D) Printed label 

 

 

GPO 	(9-9-(65 	66)  Grnisk) Gurrrti&& 

 

(A) 	051,0u mar 61615)6D 

(C) 	&rr6orrG-1_10 p n-G-IT 

(B) 	6,61Gui rrA1M61) 

(D) 	(fil uS ® 

 

Night Blindness is caused by lack of Vitamin 

A 
	

(B) B 

(C) C 
	

(D) D 

Lorr6-6)Goct&Gdoi Gp FE! 6nal Lt_uS16irr  	u rrLLJroG-Lb u 

(A) A 	 (B) B 

(C) C 	 (D) D 

DJRE24 
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The liquid metal used in thermometer is 	 

(A) Copper 	 (B) Silver 

0 Mercury 	 (D) Gold 

Qe.J11416n6uLorresflffiefl‘b utud-ruOpOu@Lb Oiyai GGorrEEL.b 	 

(A) 	prruSliTth 	 (B) G G1J 

(C) urrprpfib 	 (D) prLELb 

Normally gestation period of human last for about 	 days. 

(A) 150 	 (B) 360 

0 280 	 (D) 500 

Qurr§iGurr6 u2,66 1p6161) zfin-Ou ffirrGuCo 	  prre'rraurrrib. 

(A) 150 
	

(B) 360 

(C) 280 
	

(D) 500 

114. The heart normally beats 

72 — 75 

(C) 	50 — 55 

@Pu-ll-D1r66r§ 	(61'-61'4Alet 

(A) 	72 — 75 

(C) 	50 — 55  

times per minute. 

(B) 60 — 65 

(D) 40 — 45 

(9361DX §0A00. 

(B) 60 — 65 

(D) 40 — 45 

115. The 'universal solvent' is 

(A) Acetone 

(C) Benzene 

(IF (Mkt 	riiurrr GTOSTO u al§ 

(A) 	IAL_I-r6isr 

(C) Qu6b-rgaT 

0 Water 

(D) Alcohol 

(B) 

(D) ,%Gimswrr6i) 
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116. The largest democratic country in the world is 

0 India 

(C) USA 

GDAIGGDGui uSlaUQurflui Nerrprriu& pit@ 

(A) atO rr 

(C) 	c:91 Q up 61156E rr 

(B) China 

(D) Canada 

(B) garrr 

(D) EEes-rt_rr 

117. 	 was established by the Justice Party Government for the 
selection of Government Officials. 

Staff Selection Board 

Public Service Commission 

Provincial Staff Recruitment Board 

Staff Selection Commission 

..10,E6rrrf16666)Grr Gpral Q 511:J ILI 	 (6016 EL1turr61) OgamliuLt_§? 

u6669turrant Gprrai GurrMuiLb 

Qurr§O u0561 GU ui 

LorrOGDC_I ueeturrurrr 	Q6rrCJLj airr61uith 

uoufl ILI Fur r'r Gprral rres)6001 	ILI Lb 

118. 	was the original religion of Japan. 

Shinto 
	

(B) Confucianism 

(C) Taoism 
	

(D) Animism 

N1_Iurr666b-r 6n-GZE mph, 4RLb. 

(A) Q96b-rGi_rr 
	 (B) 6-irra4uJrr6 LbfiEF 

(C) prra-1.11TuSlEFLb 
	

(D) 1661u6ELip 

DJRE24 
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	was the Independent India's First Law Minister. 

0 Dr. B.R. Ambedkar 	 (B) Dr. Radhakrishnan 
(C) 	Dr. Sachidananda Sinha 	(D) Dr. Rajendra Prasad 

5007 atOu_JrreS16irr (4:0) aLL_ 

(A) 	t_rritLit. 61.,Dst. .1LhGupsit 	(B) 	rrft. @ijn-prrgloG460016i1T 

(C) 	rrfrJr.atFAprrar,tp AGirrarr 	(D) i_rr161_1t. ,@[TrrGN$OIT 619-,EFrr 

Which of the following Palayakkarar of Tamil Nadu was the pioneer 
against the English rule 	 

0 Puli Thevar 	 (B) Kattabomman 

(C) Yusufkhan 	 (D) Marudhu Brothers 

616b-re.J0Lb puSlOrni® urrmerrui/E4ErriptEGi-r 	Eo,9sILAGniu ci-OrrpGiS1Gb 
GDGisrGerrrrkiwurrerraiit 

(A) 660 Gpalit 

(C) g&C_IErrGirr 

Where was the anti-Hindi conference held? 

(A) Erode 	 Salem 

(C) Madras 	 (D) Madurai 

orOrrad umrprr® orrLas p4pCiCluaD§? 

(A) , EFG,9- rrG1 
	

(B) G&W lb 

(C) Q&ii 
	

(D) L.Diccou 

122. Fort St. George was constructed by the British in 

(A) Bombay. 	 (B) Cuddalore 

Madras 	 (D) Calcutta 

y 661p rrrr G6ra:_ccoL_ ,9srLg1GG-uu_ntisurrrGi) 

(A) uLburafi 
	

(B) 	ft 

(C) • • invrrdo 
	

(D) 666i)arr 
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123. The Oldest Industry in India was 	 Industry. 

Ai Textile 	 (B) Steel 

(C) Electrical 	 (D) Fertilizers 

	 GIrrOlGi) atOuirraCkirr uweauturrar Qprr0161) .„9s(L.b. 

(A) ClpaGil 

(C) u51615-r&& 

(B) ord). 

(D) 	-rLiffictr 

1'24. Aryans came from 	 

(A) China 

Central Asia 

s61111(rEdr 	 

(A) gartr 

(C) w1ui luinr 

   

61(5,t0 G4P66rt. 

(B) North Asia 

(D) Europe 

(B) 	 ILJ rr - 

(D) mGD-rallurr 

125. Who is called the first citizen of India? 

(A) 	The Chief Minister 

(C) 	The Prime Minister 

atliurre516irr (3p6-1) (LEI_LD,556isr u_irnt ? 

(A) cy3pGueoLDIF,Frr 

(C) arypnit 

126. Velu Nachiyar was a queen of 

(A) Sivagiri 

(C) Nagalapuram  

0 The President 

(D) The Chief Justice of India 

(B) 	 ojft  

()) at0U-1  PaC)61)6.6)1i)  

0 Sivagangai 

(D) Virupachi 

Gag] prrbl u_J int G-ri:Ju1u616is-r 9-F6-661 	run.  ? 

(A) AGukrfl 
	

(B) ble.iatioDa 

(C) p1r6Gu11y9- Lb 
	

(D) eSlouurrtial 
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127. The Marudhu Brothers were hanged to death at 	 

Tiruppathur 	 (B) Kayathar 

(C) 	Virupachi 	 (D) Panchalam Kurichi 

moo efG,E6rrp9-(r6661-r 

(A) k5c_fugfrit 

(C) 

adip @i406-1) 

(B) 6u.JAprrg 

(D) urrarrGor,thlEFA 

Where did the U.S. drop its first atomic bomb (1945)? 

Hiroshima 
	

(B) Tokyo 

(C) Nagasaki 
	

(D) Kavashaki 

.1CILD611666rr p6ur§ cy3p6i) ,9isictsrem_ crrLiG66 dbliugi (1945) ? 

(A) OlGu1ra9uprr 
	

(B) Gt_rr15gGuirr 

(C) prrEarrk 
	

(D) &airr&rreD 

Why was Manchester considered ideal for textile production? 

availability of land 

rich human resources 

better living condition 

cool climate 

Lo116isr1&Gful_rr pau-Lb 63-6isr 	u0e5( 	@I_Lnrra& ffiopilluLL._0? 

filcuLb gesm_zta Quibpainn 

LISI&tp Lothlp GuGrab 

pc-b6u airrpleD66 (w6i) 

r1ujrrarLu GufileD6u 
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130. Preservation process of dead body in ancient Egypt 

Mummification 
	

(B) Sarcophagus 

(C) Hyksos 
	

(D) Polytheism 

orgCJ1UJftT@Atp P_L_GbEm ar upC_I u G10 u rrisE64p Gpopp 	  

(A) LoWaSlturr&ELb 	 (B) &itGarruarrdu 

(C) 	6towlbGarrGio 	 (D) LAD ffii_alarrumour 61166b 	rti (p61) 

131. What was occupation of the inhabitants of the Kurinji region? 

(A) Plundering 

(B) 	Cattle rearing 

Hunting and gathering 

(D) Agriculture 

(,61b1 (61Gui_liuAlu5161) airrOp umbffiG616icr Qprr0161) unti ? 

Q6srrdrow-ruits4p61) 

,z9s(616m-  Gupul4pb 

LOD I__ uirr@p61) LoLbG,EFEMpG1) 

Gaiarrrbool min 

132. The First General Elections after Independent in India were held in 

(A) 1948-49 	 1951-52 

(C) 1952-53 	 (D) 1947-48 

a6Ourre.516-1) Erp(609- At 61,D G*Gb Clurr 	Gpftpb (5601_Quao 	 

(A) 1948-49 
	

(B) 1951-52 

(C) 1952-53 
	

(D) 1947-48 
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133. Veera Pandiya Kattabomman was hanged at 

(A) Sivagangai 
	

Kayathar 

(C) 	Tiruppathur 
	

(D) Panchalam Kurichi 

elTurrekry.0 .15C_L_QurribLD6br grptgleSh_uuLL- g_th 

(A) ble_lar&Jamt 
	

(3) auiAprrg 

(C) 	Ljuft 
	

(D) urrErrGor,th-LEFA 

134. Who was the founder of Ramakrishna Mission? 

(A) 	Swami Dayananda Saraswathi 

Swami Vivekananda 

Annie Besant 

Raja Rammohan Roy 

@u-ranegloGiTeRsur uSlGiliGnar P_oairr.ethltuairr uirrit? 

Erairru61 pul rractp 6FITGiuG4 

Efral rr uS1 GOGe_166rresctpft 

.16irres9 QuadiTL 

@rirrwirab Ginrrffidsr ryrruLl 

135. An example of Chola architecture can be seen at 	 

(A) Kannayiram 	 (B) Uraiyur 

(C) Kanchipuram 	 Thanjavur 

G,Eurpn-656616b-r &Licp_sta6-6)GoiLarrar or@o16,E61ni6n_ GT1JQJ ffirrcarGorrtb? 

(A) 	sableurrrugulb 	 (B) P_66),0 gler 

(C) arrAyipb 	 (D) parrWr 

DJRE24 	 34 



136. Which of the following pairs is Co-prime? 

(A) 	81, 27 
	

(B) 52, 91 

	

51, 61 
	

(D) 12, 22 

616b-raloW 	666r6661fiGb, 6166)61.1 rrrturr oroSole€6.1-r 	? 

(A) 	81, 27 	 (B) - 52, 91 

(C) 51,61 	 (D) 12,22 

137. The Supplementary angle of 700  is 

(A) 20° 

(C) 290° 

70°-6b-r uSlams 09-Ciy& 	1r6öbI LD  

(A) 20° 

(C) 290° 

(B) 30° 

110° 

(B) •30° 

(D) 110° 

138. Evaluate sin2  45+ cos2  45 

1 

 

(C) 

   

  

2 

LDO LILA& .ffirrarr& sin2
45+ cos2  45 

(A) 1 (B) 2 

(D) 

2 
139- The value of p in the equation 	=10 is 	 

3 

(A) p = 12 	 (B) p = 10 
(C) p = 40 	 p = 15 

2p 
=10 orGisco 6FLD6isrurrili+Gb p ,@6b-r in0 LIN 

3 

(A) p = 12 

(C) p = 40 

(B) p = 10 

(D) p = 15 

DatE24 
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If x% of 600 is 450, then find the value of x 

x = 75 
	

(B) x = 65 

(C) 	x = 0 
	

(D) x = 1 

600061sr x% 6r6irruo 450 61-66161), x 6isr L.DOCJ6touzt arrdsrE6. 

(A) 	x = 75 
	

(B) x = 65 

(C) 	x = 0 
	

(D) x = 1 

Find the simple interest Rs. 25,000 at 8% per annum for 3 years. 

(A) 	Rs. 2,000 
	

Rs. 6,000 

(C) 	Rs. 7,000 
	

(D) Rs. 2,500 

25,000 	8% .=%660I@ijLdpi.b 3 .„9s6dtrr@Els 	p661611L4 66rreftrrE. 

(A) 	Rs. 2,000 
	

(B) Rs. 6,000 

(C) 	Rs. 7,000 
	

(D) Rs. 2,500 

The mean of the data 12, x, 28 is 18. Find the value of x. 

(A) 18 	 (B) 16 

14 	 (D) 22 

vaiEs61-r 12, x, 28 .„%gui piT61156ffldsr Eu-rrEFM 18 6r66161), x Gifr LoOn6nuf's Euref6r. 

(A) 18 
	

(B) 16 

(C) 14 
	

(D) 22 

Discount is subtracted from 	 to get S.P. 

O M.P. 	 .(B) C.P. 

(C) Loss 	 (D) Profit 

pd-rukf.u_prrargi 	 090,60 4411EaLliuL® 6)510u6n6isr 6066)6D 
QufmCiu. 

(A) 	(,0p 6066m 	 (B) „911_164;616.tow 

(C) pLi_Lb 	 (D) @GorruLb 
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4 : 1 

(D) 3 : 5 

144. An angle whose measure is less than 90° is called an 

Right angle 

Obtuse angle 

Straight angle 

Acute angle 

90°CD (615),Dal rrar Gffirrezr   GT61CJU 

Q&rjrrooith  

G-)5161GffirrGooi 

Gp (rG,% rrGooith 

( 0Jit.IG,E6n-600lLb 

145. Simplify the ratio 2O: 5 

(A) 	1 : 4 

(C) 	2 : 10 

20: 5 G-r6ir1p 61Alpptop G-rthlui 14_6d) ErrGel 

(A) 	1 : 4 
	

(B) 4 : 1 

(C) 	2 : 10 
	

(D) 3 : 5 

146. Simplify: (10 +17) ± 3 

9 	 (B) 6 

(C) 3 	 (D) 2 

(10 +17) ÷ 3 

(A) 9 
	

(B) 6 

(C) 3 
	

(D) 2 

DJRE24 
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If two angles of a triangle having measures 65° and 350, find the measure 

of the third angle 

0 80° 	 (B) 70° 

(C) 60° 	 (D) 90° 

(ij cyitGErr6640Gb &du@ GffirrGooirE'GT96-irr ,9161-1611EGIT 65°  ,b,D.Rb 35°  G-r6-616b, 

6isr,o1r6uo C.,ffirr60006b-r 	Grrepp.i& 65rratn65. 

(A) 80° 
	

(B) 70° 

(C) 60° 
	

(D) 90° 

Find the volume of a cylinder whose height is 2 m and whose base area is 

250m2  

500m3 	 (B) 500 m 

(C) 	500 m2 
	

(D) 100 m2  

p_uilyth 2 LS Loibomb 	üuCi 250 &.L.6 Qarkioi 9rr g_06tDrruclGisr 666ZST.z:91Grrcolai 

&rratsrE 

(A) 	500 uS3 
	

(B) 500 uS 

(C) 	500 uS2 
	

(D) 10012  

sin2  9 + cos2  9 = 	  

1 	 (B) 0 

(C) 3 	 (D) 2 

sin2  9 + cos2  9 = 	  

(A) 1 
	

(B) 0 

(C) 3 
	

(D) 2 

DJRE24 
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(B) selling price 

(D) marked price 

LLLb 	 )rruLbapgpth orCAu rrgith 	 uSGp 

cost price 

(C) discount 

P (E) = 0 then E is known is an 

impossible event 

(C) possible event 

P (E) = 0 or6461) E ordsrug 	 

(B) sure event 

(D) likely events 

 

4JLb. 

 

(A) @u_IGurr (r.61Fg1 (B) P__0111_11-16V :641FA 

(C) 	 66,41 	 (D) &LnairriLIC_ILA (61&pb1 

Loss or gain percentage is always calculated on the 

9G001 	(tg L_LIJ U @ Lb. 

(A) 	„91t_1166666)Go 	 (B) 051,0 e516n60 

(C) 	p 
	

(D) (filpp 616/DGD 

152. The sum of three angles of a triangle is 

180° 	 (B) 360° 

(C) 90° 	 (D) 45° 

90 cyNtGffirr600i6bTu6b-rg GffirrooTTLEG616i1T Eft@p61) 	 

(A) 180° 	 (B) 360° 

(C) 90° 	 (D) 45° 

DJRE24 
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153. 21  years is equal to 2 

(A) 25 

(C) 24 

2-12- ,sedo-r®656i-r 6r6isruo 

(A) 25 

(C) 24 

  

months. 

  

   

   

rrp rLEGIT. 

(B) 30 

(D) 5 

   

154. Find the LCM of 156 and 124 

(A) 8463 
	

(B) 3684 

4836 
	

(D) 8346 

156 wflLb 124 .g111_1 or6001 ffierfi ecr 	Lw 6611-G0015. 

(A) 8463 
	

(B) 3684 

(C) 4836 
	

(D) 8346 

155. If : 3 and 4 : 

(C)  

are equivalent ratios, then the missing term is 

(B) 2 

(D) 3 

2 	3 map Lb 4 : 

Ci 

(A) 6 

(C) 4 

4UJGb)EJ &LfD16T 61,Eglpri8th ®uLL  

(B) 2 

(D) 3 
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The next term of the sequence —
123 

is 	 ... 
4' 9' 16' 

4 
(A) 	 0 4  36 	 25 

4  
(C) 	 (D) —

4 
20 	 10 

1 2 3 
4 9 16' 

ord-rx Qprri_jr 61J M 66)&61 Gb .31@p P_70.11111-1 	 

 

 

(A) 

(C) 

4 
36 

4 
20 

Number of line of symmetry of a circle is 

(A) 1 

(C) 4 

111- 0, 	al OD ITU-II:1 U 

(A) 1 

(C) 4 

(B) 2 

Infinite Number 

5Lb#g1r Garr@add-r or6dbieszs-9,teD6 

(B) 2 

(D) orGO016660,06-6)61J 

3 -2 
158. The value of x, if 

3 3X 
	= 3-5  

3' 

	

1 
	

(B) 2 

	

(C) 3 
	

(D) 4 

33 x 3-2 x 3.% 3 5  

37  
, Gb x Gifr 

(A) 1 
	

(B) 2 

(C) 3 
	

(D) 4 

DJRE24 
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(B) 8 : 5 

12: 15 

(B) 90° 

80° 

159: The Least Common Multiple- (LCM) of 204 and 156 is 

(A) 5304 	 (B) 1326 
0 2652 	 (D) 3972 

204 LoOgLip 156 dyr uS:Tgloi Qurr§LULJJ (uS.A.Lo.) 

(A) 5304 	 (B) 1326 
(c) 2652 	 (D) 3972 

160. Which of the following is a leap year? 

(A) 2025 	 (B) 2026 

2028 	 (D) 2030 

616b-raioGuen-e_OgGi1r or§ 6-13.L11 .6001 	® (Qpii__Fdsr®)? 

(A) 2025 
	

(B) 2026 

(C) 2028 
	

(D) 2030 

161. An equivalent ratio of 4: 5 is 

(A) 	1 : 5 

(C) 	7 : 8 

4 : 5 @6tr-6PLorrar 61gpwrresr§ 

(A) 	1 : 5 

(C) 	7 : 8 

(B) 8 : 5 

(D) 12 : 15 

162. If two angles of a triangle having measures 55° and 45° find the measure 
of the third angle. 

(A) 70° 

(C) 100° 

(yitGarrot4)@IT6e6-r® GErresisrrLffigNisr ,916f1-611,Mtr 55° LoOpb 45° 61666b, 
uGisrprrai§ GErr6,0(4 Eirr „Dia-re] 

(A) 70° 

(C) 100° 

(B) 90° 

(D) 80° 

DJRE24 
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A dozen bananas costs Rs. 60. What is the price of 30 bananas? 

(A) 180 	 150 

(C) 130 	 (D) 160 

90 L_EF6tr am-eviLniprLeffld-r aglesm 5. 60 oraild) 30 am-6-64,C_I uprL65G616-in-
616-na) ordrar? 

(A) 180 
	

(B) 150 

(C) 130 
	

(D) 160 

The perimeter of an equilateral triangle is 24 cm, then the area is 

16/d cm2 	 (B) 24Icm2  

(C) 	12-fd cm2 	 (D) 321dcm2  

90 (Ennuebz6 gifiGEErr6001$ 6-b-r Eframarai 24 ClEp.uS. oraild) ,91p6isr uJuured 

(A) 	16Vd cm2 	 (B) 24-fd crn2. 

(C) 	12-fdcm2 	 (D) 32 Aid cm2  

When a die is rolled, the probability of getting a prime number is 

(A) 
2 
3 

(C) 
5 1 

uzsen_ P_olit_C_Iu®LbGurrgi, u,srr GT601 eilen_LiuAtarrar Aqpaal 

(A) .  
3 

1 
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166. The arithmetic mean of 21, 30, x, 16, 24, 28,18,17 is 22, then find the 

value of x 

22 
	

(B) 21 

(C),  17 	 (D) 26 

21, 30, x, 16, 24, 28,18,17 „9skuialathIGirr &IL@ 6Fo-rr&M 22 cre6161) x 6b-r L.D-Ouy 

(A) 22 	 (B) 21 

(C) 17 	 (D) 26 

167. If a Company pays Rs.10 lakhs for 12 workers for 15 days, how: much 

would it need to pay for 8 workers for 18 days? 

- Rs. 8 lakhs 

Rs. 12 lakhs 

Rs. 10 lakhs 

Rs. 6 lakhs 

95 filgalarinrrargi 15 prrci-r5/E6 12 CG1160)6011_11161TElt 	5. 10 	GuLEFth 

Qprr6-6)66-ntu 	psirpu w rr& 	alprL6ERD§ 	G-T-6616b 	,1,6,61ge_16-zfr0,6 	8 

Calemu_irrGtrals6 18 prreiT65166 p.6.frputnrra e_iprths 61-61_161161TGO Qprrme6 

Gpmai ? 

(A) 	5. 8 @GDLEab 

. 12 @GuL6Fth 

. 10 ,@Gutiffib 

5. 6 ,@Gui.:_&th 
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168. The distance between the origin and the point 	, 0 is 

(A) —3 

(C) 1 

(B) 2 

.0LityG'r-rG-61,LID (-3,0) Gi-Gisr,0 yel-rGatti) 	2 drat QprreDG-Dai 

(A) —3 	 (B) 2 

(C) 	 (D) 3 

The cost price of 20 apples is equal to the selling ,price of 16 apples-, then 

the gain percentage is 

(A) 20% . 	 (B) 30% 

25% 	 (D) 15% 

20 .,%C_ILS1G-i-r&er9Giyr ,DILAE eS16-6-KuLurr6Tr§ 16 ,w2_1616trathIG-ig eSibLI615)60T 616-6-)Go 

tEfuni) 616616b @Gurru 5p61pib 

(A) 20% 
	

(B) 30% 

(C) 25% 
	

(D) 15% 

The length of a rectangular field exceeds its breadth by 8 meters. If the 

perimeter of the field is 296 m, then the length of the field is 

0778 m 
	

(B) 148.m 

(C) 	70m 
	

(D) 140 m 

Q 	61J 66 611 lq_ 	610 613T 6TT Far§ ,z,61G40G-b-r ,9166646-npeSli_ 8 LELL_Cr 

,DIFQ6FGitaia Guig_Gu (616406isr a0,Darei 296 uSLI___fr 61-661 61) 	G-4 6-b-r 

(66-n-d) 

(A) 	78 uS 	 (B) 148 uS 

(C) 	70 uS 	 (D) 140u 
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SPACE FOR ROUGH WORK 
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SPACE FOR ROUGH WORK 
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